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PART - 11
MATHEMATICS

S1. Angle of a sector is 60° and radius is 14 cm, then its area is cm?.

2.8 (Berjos5n G, 50 60° SHBAD TSN 14 0.0, @O T° JTOHN

3.20.5.
(1) 100.6 (2) IOIZ.(‘J
3) 1116 (@) 9866

§2. Value of cos2 0° + cos2 60° is

cos” 0° + cos? 60° BE) IS =

5
1) 3 (2)

P él["":I

(3) @ (4)

53. Ifadice is rolled, then the probability of getting an even number is

2.8 POED SQOKJQ@&D 5550335 351:'1}'3&3@ 502,3‘3’)59ﬁ =

| ' r |
(1) 6 | (2) 3
i 2
3) 3 - (4) X
54. In asquare, the diagonal is times of its side
2.8 SHBRINE’, K50 oo 8Hed3 3e.
(1) 7 ' 2 3 g )
(3) 2 - (“4) 2
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§5. . Ratio of volumes of cylinder and cone whose radii are equal and having same height 1s

28 Tgrgm, DEen SOAS JpiSin, FomPHo HII0Ire00 A

(1}a, i3 ; 4 10 .
3) 3:1 N @ 2:1

56. tan 0 is not defined when ‘9’ 1s

‘9° Q3% _ NenSE tan O 35530-58365653.

(1)y o0° (2) 30°

- (3) 60° 4 90°

3 T
57. Ifsec®=3K and tan 8 =1 then Ke - T

3 l
sec 0 =3K 00a5» tan 0 = @033?5 K? ‘K‘j =

- 1
(1) 9 : e

3 3 (4)

G |

58. Iftan \!— then 7 sin20 + 3 cos-0 =

1
tan 0 = ‘\[‘—3' 2900 7 sin20 + 3 cos’0 =

E
e ® 3
® 3 4 |
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61. If AABC ~ ADEF, BC =4 ¢cm, EF = 5 cm and AABC = 80 ¢m2. then ADEF =

N
cm-.

AABC ~ ADEF, BC = 4 20.., EF = 5 20.2., 58050 AABC = 80 35.290.2D., @00 65. T.S.A of a solid hemisphere whose radius is x cm is 147 cm?. Then *x° is

9. From the 50 cards numbered from 1 to 50, a card is drawn at random, then the probability 63. In a right circular cone, NT+n(-n=
the . . i e . T
1at the number on the card is divisible by § is () stant el (2) vertical height
| oc 50 35% L:J"o:i)aar.’;‘.;f_a)&’h 50 gv@eés W ole 055‘5,)‘3,3507“ 8 5°8 ,.');a)nlg)oéj (3) radius of the base (4) diameter of the base
>, ; + l — =
o°0D 8 3 3)39310??' Aok Sogy SU30)e0% oG = | 2.8 (85 $Horso FogHE (1 +1)(1-71)
l 2 (1) DesTeew I (2) QP 8K
M To ) 3 :
| (3) &b T5go (4) g Tgd0
1 3 ;
() 3 4 35
64. Volume of a cube is 512 cm’, then its edge is
60. Median of the data 6, 10, 20, v, 12, 14 is 12, then x = . (1) 8cm (2) 6cm
4) 18cm
6. 10,20,x, 12, 14 © DEHSS0 12, 9008 v = | (3) l4cm (4)
‘ 2.8 55005500 Bt FVIBRPE0 512 5.20.D. BN T SO EH =
3) 4 4) 14 i (1) 820.. () 620.2.
] (3) 1420.%. (4) 18 20.%.
i
g
%

ADEF=__ . 20.5b. ¥ 0.2, RS0 Ko I egivo dny), Jorgse Jropn 147 T $5.20.2D.
(1) gu6d 2) 125 | oM v =
(3) 144 4) 169 (1 21 (2) 15
3) 8 4 7
62. Perimeter of a sector is units.
66. If cosec 8 =2 and cot 8 =+/3p where ‘0’ is an acute angle, then p =
e.5 L@wﬁoéﬁo &DSLC’DQ..H S oﬁwﬁ)é.;g. : \/_p
cosec 6 =2 oBaAW cot 6 = \ﬁp. ‘0’ .5 &ﬁﬂg?t&) QORI p =
] I_r o) 'To L iy
(H 3 (2)  3gpe X AT (1) 2 ) |1
!
(3) 2Al+r) (4) 1+2r | () ; (4) '\E
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67. 1t cos 26 = sin 46, here 26, 40 are acute angles, then the value of ‘0" = ii; 72. If A= tx/xeN and | <x <6}, then n(A) =

C0s 20 = sin 40, 20 00a350 46 ev EJ:))J §E£‘§"ED 00D ‘0’ D) = 1 A= ":.Tf.‘l'E N mam | <x< 6: 90 n(A) =

(1) 60° (2) 30° | (1) 6 (2) 5

(3) 45° 4) 15° : 3) 4 | 4) 2
68. The mean of first five prime numbers is 73. IfA cB and B c D, then

0583 & (ST Do dren = A c B 58050 B ¢ D @00

(h 4 (2) 4.6 () A=B (2) AcD

3) 56 @) 5 (3) B=D (4) DcA
69. The value of log ﬁﬁd, is , i 74. The degree of a quadratic equation is

| 3¢5 DDBGEaSD B0, SOKreasin =
log \!;64 cﬁwﬁbﬁfm;ﬁ =
(n 1 2) 0O
(1) -6 (2) I2I 3) 2 4) 3
) 6 4) 8 |
w | 75.  Logarithmic form of 38 = 2 is
70. 1f5isarootofx? — (K - 1) .x + 10 = 0, then the value of K is - w
3
7 8 =2 AW < :
= (K= 1x+ 10 =0 S, 2.5 Sumeisoo 5 600 K By Jeos \8 L POSGIrS ErD0
- 1
h -8 @) 7 (1) log,2=3 () log,8=3
(3) 8 4) 12 3) log, 8 =2 4) log, 2=0
3 3

71. Sum of the roots of 32 - 16 =0 is

»2=-16=0 mgbm@@ G0 = | 76. The discriminant. of the equation p+qr+r=0is

| px? + qv + r =0 B Dsged =
M) g 2 1 : .
16 (1) g +4pr (2) q°-4pr

3) 0 4) 16 (3) p*-4qr (4) r-4pq
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77. The equation 42 + x + 1 = 0 has % 81. To find out the slant height of a cone, we use theorem.
( | ) real Cqmll roots (2) no ['cﬂl roots . (] ) Tha]cs (2) S.A.S
(3)  real and unequal roots (4) All of the above (3) Pythagoras (4) S.S.S
.1-1 + X+ I = 9 L
Y 0 SDEBEISD Bok) Saroren | Fom0P DeyTren I SRS’ DEPOSED SGIDTFAIS0.
(1) D28 HS Sogen (2)  T%S doPgen 5% (1) 3 (2) £0.5%.20

78. The symbol set | '
ymbol for an empty set is 82. Values of sin 30°, sin 90°, sec 60° are in

e
;55 B3 m@ sin 30°. sin 90°, sec 60° © JEVIV 6‘ 50).
(h 1 2) ¢ ' () AP (2) G.P
(3) ¢} 4) (Dor(2) (3) HP 4 (Dor(3)

79. If AN B =¢, then the sets A. B are 83. Which of the following formulae is associated to cylinder ?

(1) equal sets (2) subsets
- - B JrEred’ Jrdrdd $o00HoDN JrEw

(3) disjoint sets (4) equivalent sets Fod Areo ® ? L

ANB=¢®d A, B 3déhen (1) % nr2h (2) nrrh

(1) 358 3DbHen (2) &3 JPHew (3) %ﬂr‘ 4) %Tﬂd

(3) DA SdhHew (4) S5 Shey

84. Thelinex=-3is
‘ (1) parallel to x-axis (2) parallel to y-axis
80. The zeroes of the polynomial (shown in the graph) are (3) passes through origin (4) passes through (0, - 3)
808 H3) (rHE" 1S 2ITVSE ErTre x=-3 &% 39
T

(1) x-e5°d8 JSroSEonT &0t

J\ (2) y-e&g":}é HErodSonT GOt
(-2.0y O 2.0 >

v (3) S[ore HoHY HOGE FYD
(M 2,0 @ 0,2 -
3) -2,2 4) 0.0 | @)  (0,-3) Dot 1HoG® FHD.
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—18,-16,- 14, ... 0% AP & iy 5¢5:50 3003e3 &5 S35 2

(1) t i (2) t,
3) 1, @) t,

-
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The point (-5, - 8) lies in quadrant.

(=5, - 8) Doy FESNE” SO,

(n 1 2) 11

(3) 1l 4) 1V

Ita, b, carein G.P, thenb =

a,b,ceo G.P 58;'33;%55!1 =

(1) ac (2) L :I; =

at+th+c¢ _

@) =5 @) Afac

The next term of the A.P (a+ 3d), (a+ d). (a—=d), .... Is

(a+3d). (a+d). (a-d). ... 93 AP & So°8 3550

(1) a+2d (2) a-2d

(3) a-4d (4) a-3d

The number of cubes of edge 2 cm which can be cut out from a cube of edge 6 cm is
6 20.a0. @O EDAS H05050 0d 2 20.2. oy A BHBSwes o
Qﬁﬁ)a&i) ?

1y 9 @ 18

(3) 27 4) 3
‘Which term ot the A.P - 18, - 16, - 14, .... is first positive term ?
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90. A solid iron cuboid of dimensions 49 cm X 33 cm X 24 cm is melted to form a solid

sphere, then its radius is
(1) 2lem (2) 13cm

(3) 24cm (4) 18cm

49 220.20. X 33 20.20. X 24 20.b. Soden LIRS 2.8 &3 B ) KA Ko

370y T°0 Fﬁﬁ‘gm
(1) 21205 . (2) 1320.%
(3) 2420.2 (4) 180.%

91. The solution of the equations \ﬁ.\'— \ﬁy =0 and \ﬁr i \ﬁy =0is
‘\/3.\: - '\ﬁy = (0 00d3w ‘\IE.T + '\ﬁy =( cia:gba-qs:s

(1) x=3,y=7 (2) x=8,y=3
(3) x=0,y=1 4 x=0,y=0

92, If16,x,36arein G.P, thenx=

16, x, 36 @ G.P & H$S ‘x* dew

(1 24 (2) 26
(3) 28 | (4) 30
R . 9.3 ..
93. If y=3, then the value of ‘x” satisfying the equation ra v 6is

5.3 s

y =3 @owd T+5=65 Sy 503 v Jeoss
3 ) 3
(1) (2) 3
3 ~3 4 |
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97. Probability of impossible event is
(1 0 (2) 1 1

94. The value of tan 0 in terms of sin 0 is

tan 6 QA8 Jed sin O o&
(3) 1.0or0.5 (4) 05 1
l
| —sin“0 sin 6 _
(1) 0 (2) | ‘
sind ‘ /1 —sin®
3 : :
(3) i _sine (4) o (3) 1.08c0.5 4) 05
f
e A B i
95. Distance between the points 98. InAABC,DE || BC and 5 =73 AC = 5.6, then AE=
A (log,,1000, tan 45°), B (cosec 30°, log,343) is (1) 1.8cm (2) 3.5cm .
(3) 1.2cm (4) 2.1cm !
(1) 13 units (2) /10 units R ‘
AABC &° DE || BC 500 DB = 5 AC =5.6 ©00% AE =
(3) \[Z’E units (4) \E units ' 2
A (log,,1000, tan 45°), B (cosec 30°, log,343) HOEHO S0¢5 Coe55m | (D 1.8%0.2. (2) 3.520.2. :
' (3) 1.2%0.2. 4) 2.1 2o.n.
(1) 13 ardey 2) 10 oorden
(3) 34 c3ordey (4)  [5 oordey 99. AABC ~ APQR, ZA = 50°then ZQ + <R =

AABC ~ APQR, ZA =50°, &0 ZQ+ ZR =

96. Mid values are used to find (1) 120° (2) 110°
3) 130° . 0

(1) mean (2) median (3) (4 80

L)l It | (%) mnge 100. Area of regular hexagon of side ‘a’ units is sq. units.

A D0 0655 DB SSBIARD. ‘2’ GRPEY ghessn Sodm Ko (B3N 305w 5. 05,

(1) ®re» (2)  GNS3 (1) %ﬁu (2) %Eal

3, 03 ,

(3) erTOVESD (4) 30,5;2 (3) %C Y- (4) %[ a2
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